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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chinese Traveller, Huen Tsang visited India during the reign

of this king

1. Harshavardhana
2. Ashoka

7. Kanishka

4, Satavahana
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Identify the mismatched pair
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2.
=
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Viswanadha Satvanarayana — Srimadh Ramayana
Kalpavruksham

Nanduri Subba Rao — Yenki Songs
Srirangam Srinivasarao — Firadausi — A Rebel
Gurram Jashua - Kandiseekudu
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Andhra Kesari titled leader to oppose lathi charge related to
Simon Commission in Madras was

1.

T

4.

Tenneti Viswanatham
Tanguturi Prakasam Panthulu
Rajagopalachari

Lala Lajpati Roy
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Chatrapati Shivaji fought with this kings army

1,
2.
3

4

Akbar
Humayun
Mohammad Bin Tughlaq

Aurangazeb
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The Supreme Commander of the Armed forces of India is
L. The Prime Minister

2. The President

The Vice President
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4. The Defense Minister
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The Present Vice President of NITI Aayog is

L.
2

[N

4

Suman Bery
Sindhusree Khullar
Amitabh Kant

I.G. Patel
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Identify the mismatched pair related to states and their folk

dances
1.
2.

(ad

4.

Maharashtra - Tamasha
Andhra Pradesh - Dhinsa
Odisha - Chou

Gujarat - Chadya Dandanatha
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“Give me blood. and I shall give you freedom,” these words
are said by

1. Jawaharlal Nehru

2. Sardar Patel

Subhash Chandra Bose

4. Bhagat Singh
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The purpose of ‘Pradhan Mantri - Jan-Dhan Yojana’ is to

L Provide housing facility to all families

2. Bring all the families of both urban and rural area into
the purview of banking

3. Provide gas connections to all the poor
4. Provide financial assistance to the farmers
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Identify the mismatched pair

L.

b

4.

12™ January — National Youth Day
24™ January — National Girl Child Day

8™ March — UN Day for women’s Rights of
International peace.

28™ February — National Physics Day
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The language which is called as ‘The Italian of the East” is

1. Hindi
2. Sanskrit
3. Tanul

4, Telugu
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The author of the book “Unstable Earth’ 1s

1. J.A. Steers
71 Gillbirt
3. Pascal
4. Delis
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The film ‘The Tashkent Files’ is based on the mysterious
death of

I Lal Bahadur Shastri

2. Shyama Prasad Mukherjee

Homi J. Bhabha

4, Subhash Chandra Bose
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This 1s used for artificial rains
8 Magnalia
2. Silver Todide
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Calcium Phosphate
4. Hydrogen Peroxide
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The name of the Indonesian National Airlines 1s

1. Tiger Indonesia

12

Garuda Indonesia

Elephant Indonesia
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4, Cheetah Indonesia
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Identify the mismatched pair

I,
2
3.

4.

Dollar - Barbados
Rouble - Belarus
Won - Japan

Dinar - Algeria
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After March 2024, the eligibility age for senior citizen to vote

through postal ballot 1s
L. 70 years
2. 75 years
3. 80 years
4. 85 years
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Dadasaheb Phalke Lifetime Achievement Award for 2022 1s
awarded to

] Mithun Chakravarthy
2, Aiswarya Roy
3. Chiranjeevi

4. Hemamaline
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The Central Government has announced this pension scheme
for employees from April 1. 2025
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i National Pension Scheme

2. Old Pension Scheme

New Pension Scheme
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4. Unified Pension Scheme
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Correct Marks : 0.5 Wrong Marks : 0

33" Summer Olympics 2024 was held in
I Los Angeles (America)
2 London (Great Britain)

Paris (France)

Tad

4. Shanghai (China)
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Sub-Section Number : 1
Sub-Section Id : 392266242
Question Shuffling Allowed : Yes
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Correct Marks : 0.5 Wrong Marks : 0

“English language would contribute to the revival of India.
just as Greek and Latin contributed to the revival of England.”

said by

L. Elphinstone

2. Macaulay

3. Sadler Commission
4. Sargent Committee
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‘The authorities audit report record’ belongs to this section in
the school registers

| 7 Correspondence Register

2. General Register

3 Academic Register

4, Supervision and inspection Register
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This Article of the Indian constitution deals with the
‘education development of women’
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NCLP school are managed by

1. NGOs

2 Government Teachers
3. Corporate Companies
4. Various Industries
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cording to NEP 2020, Anganwadi workers / teachers who

has lower education qualification than 10+2 will be given the
training for this time period

1.
2.
3,

4.

6 months diploma course
8 months diploma course
I vear diploma course

2 years diploma course
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The word ‘Ethos’ 1s derived from

1.
2

b

4.

‘Ethos’ &5 9830 &3 278 5009 &ust2800.
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This 1s the best method to teach moral values. as per the
recommendations of the Secondary Education Commission
(1952-53) and “National Curriculum Framework 2000’

L.
2.
3.

4.

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities
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“Listening carefully to the opinions of others™ is this type of

value

i Democratic value
2 Social value

3. Permanent value

4. Spiritual value
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Under this section of the Right to Information Act 2005, every
citizen of India can request for information of his / her choice

1 Section 4 (1)

2 Section 6 (1)

2 Section 9 (1)

4, Section 2 (J)
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Wrongly matched chapters and its components of NCF — 2005

15

L.
i

(sd

4.

Chapter 2 — Learning. knowledge
Chapter 3 — Perspective
Chapter 4 — School and Classroom Environment

Chapter 5 — Systemic Reforms
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The responses in Operant Conditioning are

1.
2.
3.

4.

Naturally emitted
elicited
un natural

either naturally emitted or elicited
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This step of memory process can be measured by this

formulae

Initial trails —relearning trails
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chronological age and mental age of a student are 12 years
and 15vears respectively. As per L.Q. level classification he
belongs to this category

k.
2.
3.

4

Very superiors
Superiors
Gifted

Given data 1s insufficient
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘Self-smart” people possess this type of intelligence

1. Visual spatial intelligence

2. Interpersonal intelligence

3 Intra personal intelligence

4. Naturalistic intelligence
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The stage when the learners regardless of their best efforts.

temporarily seems to ‘stop’ making visible progress

1.
2.
3

4.

Plateau stage
Initial spurt
Fluctuations stage

Spurt after plateau stage
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Display Question Number : Yes
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A boy 1s believer of God. He thinks that God never forgives
the sinner. Therefore he never did any sin. Here the motivation
involved 1s

I.
2.

-
1

4,

Extrinsic motivation
Intrinsic motivation
Achievement motivation

General motivation
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Display Question Number : Yes
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‘Understanding total learning situation” happens in this

learning

1. Insightful learmning

2. Programmed learning
3. Operant conditioning

4, Classical conditioning
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Options :
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A student failed in SSC examination. But he dreamed that he
would be selected for IAS and became District Collector. This
defense mechanism is

1. Rationalization
2. Fantasy
3. Displacement

4, Demnial of truth
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Symptoms of poor mental health 1s
L Adequate ability to make adjustments
2 Socially adjustable

Lives in his own world of imagination and fantasy

fsd

e

Always lives in the world of reality
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These methods are NOT useful to assess the personality of an
individual

=]

Personality inventory

oE

Minnesota Clerical Aptitude Test

C. Bell’s Adjustment Inventory

d. Metropolitan Readiness Test
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922667761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x> — 1 is a factor of ax” + bx—5 then
ax® + bx—5 % x7 — 1 5°8e3m0X0 @ond
1. a=5. b=l

a=—5.b=0

5. b=0

4. a=—25, b=l

12

.

5T d

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 42 Question Id : 3922667762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1.5x — 4y) (1.5 x+4y+3) — 4.5x+12y+4y (4y) =

o

1 2.25x+ 9y
2 2.25 x*-16y°
3 225+ 16y
4. 9295%
Options :

1. % 1

2.% 2

3.% 3

4.9 4
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A rational number is such that when you multiply it by — and
2

=

2 = _
add — to the product you get — . The number is
3 12
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2 3 4 9 X v
—4 =2 and ——-——=-1 then —+==
X 3‘- VX N 2 3
2 3 4 9 X ¥
3 ;
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2. 6
3 9
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If o.p.y are zeroes of ¥’ +3x —x—3thena’ +p* +y° =
aB.yeo ¥ +3x—x-33 = %1?5"5@5.’3 a*+fi+yi=

(M 7
2. 8
3 0
4. 11

Options :

1. %1

2.% 2

3.%3

4.9 4
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If\/z__JEJrNEJ”j“E —aand — '+ 1 —pthen
V2+43 2= 5—246  5+246
V2-8 V243 e 1, =,
V2443 V2-43 5-246  5+246
1.4 — b=4
2.4 ¥ b=4
1
3. a+ —=0
b
4. L.l=1
a b
Options :
1%
2.¥2
3. %3
4.% 4

Question Number : 47 Question Id : 3922667767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What 1s the range of the values of the constant K. if the
equation x* + kx + 16 = 0 has no real roots

g) o o
x ke + 16 =0 3EEEAE TR drores TIRS 18

fe?

K r:T:aJ;,-L“L_ Dewse ;FES;:D

1. SR
SR 5 o<,
1 A K<S
4. —16<K<16

Options :

1. %1

2. % 2

3.¥3
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4. % 4

Question Number : 48 Question Id : 3922667768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x = sum of first 40 even natural numbers
v = sum of first 40 odd natural numbers. then y— x =

X =008 40 DO Do ﬁoa:ga} o050

Y =058 40 T Ve dopge J0Eo BB y—x =

1. —40
2. 40
3. —20
4. 20

Options :

1.v1

2.% 2

3.% 3

4. % 4

Question Number : 49 Question Id : 3922667769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The largest binomial co—efficient in the expansion of (H:nr}l2 18
(1+x)"? Doy, YEeS” & DE BB Koeako

1. 924

2, 816

3. 792

4, 495

Options :
1.¥1
2.% 2
3.% 3
4. % 4
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Correct Marks : 0.5 Wrong Marks : 0
The domain of function y(x) defined by equation 3* + 3" =3 is
3+ 3= 3 phox8eswn oo ALDODE ([FS0c0 y(x)
Bk [HO¥o

i [3, o0)
2. (—o0, o0)
3. (—e0, 1]
4, (—e0, 1)

Options :

1. %1

2. % 2

3.%3

4. v 4

Question Number : 51 Question Id : 3922667771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 O 0
If A=|2 3 4|anddetA=45thenx=
3 —6 x
1 0 /0
A=|2 3 4|8cw A R)%ESED = 45 ©onS ¥ =
5 8 X
1 )
2 23
3
4.
Options :
1. % 1
2. % )
3. % 3
4.9 4
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s NOT TRUE.

1. Mode is not effected by extreme values

2. Mean 1s influenced by the value of every
Observation in the data

3. Median is uneffected by extreme values

4, Range of first ‘n’ whole numbers i1s ‘n’
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Options :
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Question Number : 53 Question Id : 3922667773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining
overs to reach the target of 366 runs?

2.5 50 3% 53 (338 5r5nS” Incé 10 458 S
2 G g

o2

ES0E 4.4 5D &0B. 366 BEKHO FEIH DHE T 008
DADS L.5ES” o BSBE 558507

I, 8.05
2, 8.25
3. 1.5

4. 7.05

Options :
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1.v¥1
2. % 2
3.% 3
4. % 4

Question Number : 54 Question Id : 3922667774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The meanofa.b.c.dand e 1s 32. if the mean of a. d and e 1s
28 then the mean of b and ¢ 1s
a.b.c.ddddvew &mﬁb Wit 32, a. d 50885

) ::T;‘::.o,-_h‘b_ B0 28 @0 bdddn ¢ Emz‘b WAL

i 38
2. 36
3 34
4. 32

Options :

1.v¥ 1

2.% 2

3.%3

4. % 4

Question Number : 55 Question Id : 3922667775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The point of intersection of the less than type and of the more
than type cumulative frequency of a grouped data 1s (15.5. 7.5)
then median 1s

2.5 SQ%)S $320¥0 Do), e8I 00 ©I5 e
Bvodes %“ﬁzﬁ.é}mse: P0ES DodvP (15.5, 7.5) eand

;531‘.‘55?‘{9:6;333
1 7.5
2 23
3. 8

4. 155

Options :
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Question Number : 56 Question Id : 3922667776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mode of the following frequency distribution is

200 éﬁjz@f‘&; DeTeeS DEE Bk, TOYEID
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0.00-0.04

0.04-0.08

0.08-0.12

0.12-0.16

0.12-0.16

f

4
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0.11
0.03
0.06
4. 0.09
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Options :
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2. % 2
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the variance of 0.1.2.3.........9 15 K. then the variance of
10.11.12.13........191s

Options :

9 Bty @ K eons 10,11,12,13,.... 19 S,
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1. %1
2. % 2
3.% 3
4.9 4

Question Number : 58 Question Id : 3922667778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Two dice which contain A.B.C.D.E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

Seorop AB.C.D.E 50diw F eorr 8005068 Dok
TREOD 2EPD MU0, DO FALOP S0 wje
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1
1. —
18
1
4 —
2
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36
1
£ =
9
Options :
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A bag contaimns 10 yellow. 15 blue, 20 red and 25 green balls.
A ball 1s picked out without looking into it. Probability of
getting a ball that is neither yellow nor blue.

2.5 $096" 10 D0, 15 Jo0, 20 Koy OGN 25 es5HHed)
e0een o). oﬁ:vc:’:g{’,}"):‘;‘or? 2.5 2008 D0 Soow
BSHESE. DY) HOL Voo woden 57 DoAY
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1. —
14
1
2. —
7
9
3. —
14
3
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Options :
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From a pack of 52 playing deck of cards. jacks. queens and
kings of red colour are removed. From the remaining cards.
Probability of getting black king card 1s

52 Sten Ko DES0K © 5 $00& JEHTOR Ke erden,
o°ed BCn T Sthen SToR0SwASE. WRDS SHeS”
Sensy o S‘“(‘.ﬁé FOLSED3 ﬁoz.mﬁgéé

1
1. —
26
1
2. —
46
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26
1
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Options :
1. % 1
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4. 4

Question Number : 61 Question Id : 3922667781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

There are hundred cards which are numbered from 1 to 100.
Find the sum of probability of getting a square number and
probability of getting a cube number

1 S00é 100 58% &D@éw 00T RGES $08 e Ko, I
K:noa:gaﬁa FOREVS ‘@02,7‘*;55926 00 Pos ﬁoa::g;:’u PORGRS
ROZPIEe Bo0go SAT0G.

1 0.10
2. 0.12
3, 0.13
4. 0.14

Options :

1. % 1

2. % 2

3.%3

4.9 4

Question Number : 62 Question Id : 3922667782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B), P(B/A), P(An B) and P (AuUB)
respectively are

1. 0.2,0.1.0.5 and 0.6

2 0.1,0.2.0.5and 0.6

s 0.1,0.2, 0.6 and 0.5

4. 0.2,0.5,0.1 and 0.6
A So0ciw Bew ‘&35926013:6 DoeJen P(A)=0.2. 5085

P(B) = 0.5 e@cwd P(A/B). P(B/A). P(An B) 508650
P(AUB) en S50

1. 0.2.0.1.0.55805» 0.6

2. 0.1.0.2.0.5 5:0c5 0.6

3. 0.1.0.2.0.650805%0 0.5

4. 02.05.0.1 5065 0.6

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 63 Question Id : 3922667783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Y— axis divides the line segment joining the points (—6. 15)
and (3. 5) internally in the ratio
(—6. 15) .(3.5) Dotvyos 50> T pozd) Y — oo

©oorr JFR0D IQY

1 I:2
2. 2:1
3+ 9:20
4. 3:2

Options :
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Question Number : 64 Question Id : 3922667784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (3. 5). Q (1. 10).
R (3.1) and S (1. —4) and M is the point on side PQ. The area
ARMS is (sq. units)

NST0esY 5&3&@&0 PQRS &%), %c&w P (-3, 5).Q (1, 10),
R (3.1) 508c50 S (-1, 4) 8csn PQ dhaxom Mak
D059 ®ans ARMS &), Feogo (5.657008°)

1
2.

Tl

4.

Options :

1. %1
2. %2
3. %3
4.¥ 4

144
92
46

Question Number : 65 Question Id : 3922667785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The area of an equilateral triangle whose vertices are (a. 0),
(—a. 0) and (0. a+/3)is 83 sq. units then the value of ‘a” s

(a.0). (—a.0) 865 (0. a4/3) ©&° V)& BaeTv (Do
E‘E'“E’?SG 843 35,655, @onS a ::T:S:uﬁfb_ D05
1. 2

T
I ]
pe I~y

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 66 Question Id : 3922667786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of Quadrilateral PQRS
whose vertices are P (—6. 0). Q (—4. 3). R(—6. 8) and S (-8. 3)
1s (1n units)

P (6. 0). Q (4. 3). R (6. 8) 005 S (-8, 3) e» Borewr
Ko PQRS sSeotys sgo FEo B (S570eS")

1. 4
2. 45
3. 5
4, 55

Options :

1.¥ 1

2.% 2

3.% 3

4. % 4

Question Number : 67 Question Id : 3922667787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0
If the slope of a line joining the points A (a. 3). B (— 7. EE} 1s

1 :
= then a’—1 is
!

!

—

A(a.3).B [—?.2%} o0 ¥ Tpaen % sond a—1

SB¥), a0
.
2
2 11—
4
QY
i
5. 131
4
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 68 Question Id : 3922667788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The direction ratios of a line are (—6. 2. 3). The direction
cosines are

2. Op OF ‘&’JG&};&D (—6.2.3) wond oo B § R

1 (6 =5 -8
' (%" o ™ 5
) (=623
LT T
. (6 —2 —3)
o — . —
L5 55
(—6 5 B
4 _‘___)
L5 "5
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 69 Question Id : 3922667789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x" 4 5xy+ 2 =5x—Ty+3=0 18

27 + 57 +2" = 5x— 7y +3= 00003 Tpo 50655 560

1: cos | =

LS ]
[y
-"‘u
—a
Lo
o

Options :
1.1

2. %2
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3. % 3
4. % 4

Question Number : 70 Question Id : 3922667790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The equation of circle with centre (2.—3) and passes through
(—5.1) 1s

(2.-3)Boor SOA (-5.1) KoomPe> 5y PRS0
1 X417 —4x+6y-44=0
2 X+ +4x—6y—-44=0

X4+ —4x4+6y—52=0

[ ]

4. X+ +4x—6y—52=0

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 71 Question Id : 3922667791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The eccentricity of a rectangular hyperbola
2.5 002 98I0 L0 ée’ﬁbo@e‘é

1. 2
2 V2 +1
3. A3
4. 1
Options :
1.v 1
2.% 2
3.% 3

4, % 4
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Question Number : 72 Question Id : 3922667792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If .4 = 45" then the value of (CosecA—SinA) (SecA—CosA)
A=45"@ans (CosecA-SinA) (SecA—CosA) Gook). Denss
1.
2.

L |

b | — =2 =

L
3| o

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 73 Question Id : 3922667793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC is a scalene triangle with base AC, if AC = 6¢cm,
AB = /3 cmand /BAC = 60°, then the area of triangle in cm’

18

AC g Ko 2.8 e (Bgbzmo ABC &
AC = 620.05. AB = /320.20 5580350 Z/BAC = 60",
LlovbPy] L@eﬁoa :.3%‘“&:50 S200.5.08°

1 4.5
2 343
3. (4.513
4. 153
Options :
1.¥ 1
2.% 2

3.% 3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

4. % 4

7 GET IT ON
Google Play

Question Number : 74 Question Id : 3922667794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following increases continuously in the
range 0° <8 <90°?

0" <9 <90" ;“53_::9@5'5 208 >8S° B JenSen (Edorr

SR,
i Sinh. Coth
2 SecH. Coso
3. Sinb. tand
4. SecO, Cosecb
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 75 Question Id : 3922667795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If Cos (x+50°)=Sin (y—50°) then Sin (x+y) — Cos (x+y) +

Cos30

Cos (x+50%) =Sin (y-50°) ea0s Sin (x+y) — Cos (x+y) +
Cos30° Bk, Dewss

(8]

4.

Options :

5
2
R
2

J3+1

9

3442

2
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1. %1
2.9 2
3.%3
4. % 4

Question Number : 76 Question Id : 3922667796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18+/3 ecm? and BD = 6¢m then the
/DAB

crowS ABCD &), eege 183 $5:70.2. 508650
BD = 6 0.2 @ons Z/DAB

1. 30°
2 60°
3. 90°
4, 120°

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 77 Question Id : 3922667797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Inner part of a cupboard is in the Cuboidical shape with its

length. breadth and height in the ratio +/2:1:1 . then the angle
made by the longest stick which can be inserted into the
cupboard with its base diagonal 13

2% 6{5}0 DTTVoS” &) EI5°G 79 grKoS” FEY, Ien)
50000 e VYY) V2 :1: 10003 e K55GS By ©d
DG EG, &R e Book), EYoS® Baiw 50

L 45°
2. 60°
3 30°
4. I3

Options :

1. % 1

2.% 2

3.3

4. % 4

Question Number : 78 Question Id : 3922667798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following does not exist for some value of “x’
A 2.5 Jed ¥ 208 FES° FE5E D

—21
1. Cosxy = ——
34
, 26
2k Sinx = —
= tanx =29
4. Secxy=1.9
Options :
1. %1
2.%2
3.% 3

4.% 4
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Question Number : 79 Question Id : 3922667799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of Sec (2100°)
Sec (2100°) SBoo¥), Jews

Options :

1. % 1
2.2
3.% 3
4. % 4

[

Question Number : 80 Question Id : 3922667800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3
Ina AABC.Ifa=3.b=4and SinA = I then /B

(B0 ABCS"a=3,b=4 0850 SinA = % @wons /B

1.
2.
3.

4

Options :

1.1
2. % 2
3.% 3
4. % 4

90°
60°
45°

30°

Question Number : 81 Question Id : 3922667801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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.
If SecHb+tand = i then value of Sin6 and the quadrant in

which “0° lies

A
SecB+tand = % eao0s Sind Dens 308cs» ‘6 D ol
20858

1 Sb=-— 0eg,

I
(]
E
]

Il
TR
Q’::u
m

2

13
. 5
4. Sml=+—.60€(,
13
Options :
1. % ]
2.2
3.% 3
4. % 4

GET IT ON
Google Play

Question Number : 82 Question Id : 3922667802 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

For two non—zero. non collinear vectors a and b if
| a+b | = | a-b | then angle between a and b 1s

a,b oo &S5y, WOPATre T BOIPSS’

|a+b|= Ia—b|e:cmai a.be ;‘535556530

i 60°
2. 90°
3. 120°
4, 150°
Options :

1. % 1
2.9¥2
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3. % 3
4. % 4

Question Number : 83 Question Id : 3922667803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors
a=21-3j+3K and b =1 + 2] —5k are adjacent sides is

(in square units)

a= 21-3]+3K 28w b=1+2j -5k S8%en &)

RO o HITOSY HEbthye FTego (SEEY cﬁmﬁ}%aﬂés)

1 A 782
2. 390
3 v 299
4. 158

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 84 Question Id : 3922667804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If OA=1+3j+2k. AB= 31-2j+k. then OB =
OA=1+3j+2k. AB=31-2j+k @ons OB =

1. —21+5)—-k
2 B
3. 4i+j+3k
4.  —4i—j-3k

Options :

1. %1

2.% 2

3.¥3
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4. % 4

Question Number : 85 Question Id : 3922667805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

L ]

| b

|_]

gl
.—'"'-.-_:-"‘\

| =
e

~+

)

4. l Tan'x+c¢
0

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 86 Question Id : 3922667806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of lim S”mr. b#0.a#bis
x>0 Sinbx
. Sinax
lim (b0, a# b}c?m.’;‘b_ eI
=0 Sin by
1. ab
a
2. =
b
= b
o T
a
log_a
4. £
log, b

Options :
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 87 Question Id : 3922667807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If f(x) = e* + Sinx Cosx, then ' (x)

f(x) = e* +Sinx Cosy. @030:5 ()

1 e®* +Cos 2x
3 e* +Sin2x
3. e* 4+ 2Sin x
4. e* +2Cos x

Options :

1.9 1

2. % 2

3. % 3

4.% 4

Question Number : 88 Question Id : 3922667808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

_I_-xSfa?xriT:
1]

1. 0

% 1

Tad
NN

4. T

Options :
1. %1

2.2
3. % 3
4. % 4
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Question Number : 89 Question Id : 3922667809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement/s

(1) 2kg:500g=10km:2.5km

(11) 20 seconds : 3 hours = 1 meter : 900cm
(1) %1 : 10 paise=lcm: Imm

1. only (1)

.4 only (1) and (11)
3 only (i1) and (111)
4. only (1) and (111)

DODOT P08 0T0E.
A 28 5000 =103 :2.58.20

(i) 2035 : 3 Koten =1 &6 : 90002
(i) T1:100e0 =120.00 @ 120.2.

1. (1) Sl

2. (1) 8csw (ii) sSom(esd

3.0 (ii) Sodddo (1il) Sov(e

4. (1) 08w (iii) Sor(gd

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 90 Question Id : 3922667810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The difference between compound interest (compounded
annually) and simple interests on a certain amount of money
for two years at 4% per annum is ¥10. Then the amount of
MONey 1S

oS iﬂﬁmg';.i ooae_én]mﬁjﬁ 4% a.:&@‘; 2 ﬂowé“]o“e:_o eso
waﬂjoﬂﬁ}g 2,58 D.:.& @tbf‘i*‘é}: ua::ne'“.’&ﬁ}) LSQ‘EQ& 08050
eplmitetar M%ﬂ o:uaazs S 710 9005 es3 @“m&.

L. X 6250
2 X 6300
3 X 6500
4, X 7500

Options :

1.¥1

2.% 2

3.%3

4. % 4

Question Number : 91 Question Id : 3922667811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expenses on oil, vegetables and rice of a family are in the ratio
12:13:15 respectively. The prices of these are increased by 20%.
30%. 50% respectively. The total expenses increased by

2.¥ %¢00208° 5779, Er8maioen £$:8d50 5395359533&: @&:Jm
SEH 12:13:15 AYBS® &Tyow. B Seo SEH 20%, 30%,
50% 20w, 0SS INo rkod D DOAS a:.&a 50,

I 32.5%
2 33.5%
3 34.5%
4. 35.5%

Options :

1. % 1

2. %)

3.¥3
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4. % 4

Question Number : 92 Question Id : 3922667812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a hostel of 180 boys the food material is sufficient for 37

days. After 12 days of hostel life, 30 boys left the hostel. The
number of days for which the remaining food material will last is
180 008 Lmowen Ao 2k INESTL ﬁﬂ}t’.:ruoéﬁ 37 S0

RO T SET BHHed ETaw. 12 &eze ‘36{35
BIBE0 BTG 30 5000 Yo & TFHSW S0 I,
DRSS es5vy ST DLW WADS wer)oneHd HOIFSH

Sere oS
1. 30
2. 32
3.0 34
4. 36
Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 93 Question Id : 3922667813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If the cost price of 12 apples 1s equal to selling price of 18
apples. then the loss percentage is

12 es2S H0&ESy £9)s0, 18 eSHO HOES @) SO
[ L]

DTS SHRTE0
1. 30%
2 50%
1
3. 33—%
3
L.
4. 30—%
3
Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 94 Question Id : 3922667814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of 1170 1s divided among three persons A. B and
C such that 3 times A’s share. 2 times B’s share. 4 times C’s
share are equal. The shares of A, B and C respectively are

3o 1170 30eed) A B $8c5n C &F Sooidh SiHoHh A
o3 3 Bk, B a3 2 Bey, C 2ol 4 B BIrSD
5335336.50?? HoSdod. wond A, B. (o oDods armen
NTeStolan
1 3270, %180, 360
2. %390.%260.%520
3. %520.%390.%260
4. %360.3540.3270

Options :

1. % 1

2.% 2

3. %3
4.9 4
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Question Number : 95 Question Id : 3922667815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of numbers from 1 to 70 (including 1 and 70).
which have 1 or 9 in the unit’s digit

1 508c» 70 © sggie (1 50805 700&° H55F) ';ma:.éeaes‘;
2‘5%% ﬁ;?joéﬁ 1 8o 9 Ko ‘;{503,*35&: Foe50

i 20
2. a9
3 30
4. 35

Options :

1.v 1

2. % 2

3.%3

4. % 4

Question Number : 96 Question Id : 3922667816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which 1s divisible by 9. 18. 24
and 32 is
9,18,24 o805 320D JHNOM™ PROBED TP @08

@@&F@ K::Gs,a{s

b, 1080
2, 1152
3 1306
4. 1536

Options :

1. % 1

2.9 2

3.%3

4. % 4
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Question Number : 97 Question Id : 3922667817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is/are terminating decimal(s)
w5l s 143 gy 9
(1) T (11) o~ (111) T8

1 (1) only

2 (1) and (11) only

(1) and (111) only
4. (1). (11) and (111)

208 >8S° @0@6;3’:;65:-5 SaoaTen

b

- an 148 o B
Wiy Wy iy
L (1) Somgdo

2. (1) o8cso (ii) Som(Es

)

(1) sodasw (iii) Som(gd
4. (1). (11) &>8c50 (1i1)

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 98 Question Id : 3922667818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If log (102 (log ):% and lmg%(log{?jz—lﬂleﬂ HCF (x.y) =

[ et

X
6
log (IDE (log )) l% 8ci® log {1 255

): —1e9020&
HRar.se (x,y)=

1.
2.

b

1

3

6
4, 9
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 99 Question Id : 3922667819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If the pair of integers (a, b) such that a = =-3 and
a+b+8=0,thena=
a+b=-3:300c» a+tb+8=0. E&O’fy&gi}c‘.ﬂom ‘J{:yrtﬁa‘ﬁoaagea e3¢

(a, b) ®ons a=

1 —4
2 4
3 —12
4 12
Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 100 Question Id : 3922667820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following statement is TRUE?
208 T&S” S5 HSES0 IB?

(fems i

4=-(44+4)=(4+-4)+(4+4)

1 1
4, M § S Gy My T el
{4 4} 4=(4+4) [4 4)

Options :
1. % 1
2. % 2
3.% 3
4.9 4

b

[ ]

Question Number : 101 Question Id : 3922667821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

13.824 +3/15.625 -317.576 =
i. 23
2. 4
3. 5

4.

S SR
e |

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 102 Question Id : 3922667822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Let abe be any three digit number. then abc+bca+cab 1s not
always divisible by
abc 95350 DB ¥ Srdose ﬁoa::g @aws abctbca+cab

©DHIO (208 SBS” BIT o) arhoSeE.

1. a+b+c
P 3
3. 37
4. 17
Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 103 Question Id : 3922667823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

IfA= {r x=n"+1lneN.n 54} ,B={x:x1is an integer and
x"—9 = 0} then which of the following is TRUE
A= {x x=n"+1n EN.irﬂﬂr} ,B={x:xea¥ ‘o@rg‘ﬁoabé NSTslonbt)
X"—9 =0} sows (308 F8S° HEN0.
L. n(A-B)=5
2. n(AnB)=1
3. n(AuUB)=5
4. n(B—A)=2
Options :
1% 1
2. %2

3.%3
4.9 4

Question Number : 104 Question Id : 3922667824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the WRONG statement
All thombuses are parallelograms

1
2 All squares are thombuses and rectangles
3. All rectangles are squares

4 All parallelograms are trapeziums

eleli v ;:'“55553335.3 K580t

 F @Ka ﬁmﬁﬁ}&aaﬁm SN e i e ﬁe‘:ﬁ:&:ﬁjﬁﬁm 2959000

2. o) SEFres v Seothymren o &Y
SEY(Eren S ow.

3. oR) 8Y Se¥Pres SedTrer ePparan

4. @Ka WHedor0es s irieléoti%)ﬂ“m N0 5&3&3&@@:
£9.0) 300,
Options :
1.% 1
2. % 9
3.¥3
4. % 4

Question Number : 105 Question Id : 3922667825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In AABC. DE//BC. If AD=2.3cm. DB=6.9cm and EC=4.5cm
then AE is
AABC &° DE/BC. AD=2.320.%, DB=6.9 0.2 585
EC=4.5 0.2. @cnd AE Dens

¥ 3.0 cm
. 13.5 cm
3. 1.5¢cm
4, 1.8 cm

Options :

1. % ]

2. % 2

3.3
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Question Number : 106 Question Id : 3922667826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

*AB’ is a chord of length 10cm which is drawn in the circle of
center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord 1s

1.
2.
3.

4

10 cm
16 cm
13 cm
12 cm

‘0’ So|Esn 065 FEHR0 26 0. T Ko S)EKS”
10 0.5 &y Ko ‘AB’ &g ¥otH. So(@xn &od &g
&% ooz Sr8sn

1
2
3.
+

Options :

1. %1
2.% 2
3. % 3
4.9 4

10 0.2
16 0.2
13 0.2
12 200.2
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A circle touches all four sides of quadrilateral KLMN.
If KL =12cm, KN = 14cm, MN = 18cm then LM is

1.

LS R O

4.

8 cm

20 cm
16 cm
44 cm

KILMN ijelfiatiaaao o?mz‘b_ TP 2oEPes) GrEidioe LY
Sy0 ok, KL =12 0.2, KN =14 0.2, MN =
18 20.50. eond LM Jens

W

4.
Options :
1. %1
2. %2
3.3
4. % 4

8 2o.5.

20 2o0.5.
16 200.2o.
44 0.30.

Question Number : 108 Question Id : 3922667828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The supplementary angle of an angle ZA is three times to
angle ZA. The sum of complementary and supplementary
angles of ZA 1s

28 S0 ZA &ook), DOPrUY e & §°600 LAD
2a°¢5> B, oS LA Boo¥) Rl S0 HorE
Sere 0o

¥
2.
3,
4.

Options :

45°
180°
135°
90°
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 109 Question Id : 3922667829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an equilateral triangle 1s

28 DB (Behzo Tw¥) S0 D8 P &8
©0ETRF0P STednIH AP

L. 32
2. 21

fad

1
4, 3:1
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 110 Question Id : 3922667830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a triangle 1s 12 cm. If all the three sides have
lengths (in ¢cm) in integers. then how many such triangles are
possible?

2.5 (Bubz0 B tHenSed 12 0., o) (Bbe hwre
oo (oo’ ;’Qyﬂg “n'ioa:lgmome'_%, QJE%} 500 BB
(Bozren 3“555:;@@1033?

1. 5
2. 9
3 3
4. 4

Options :
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1. %1
2. % 2
3.3
4. % 4
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Question Number : 111 Question Id : 3922667831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

CART i1s a rectangle. Intersecting point of diagonals ‘CR” and
‘AT’ is ‘O°. If CO = x* +3x+7and OR = x* +4x+5then value
of x and length of any one of its diagonal respectively are

i
.
3.

4.

4 and 35
land 11
2 and 34
3 and 25

CART e05058 2.5 DY 5es(po. Sgen CR 508

AT o 20&ES ooy ‘0. CO= x? +3x+ 75080850

2 = L P v = ==
OR=x"4+4x4+5 209003 x Jeus 0080 00 2.8

Eg 0 M SEOT

L.
2.
3.
4.

Options :
1. %1
2.% 2
3.3
4. % 4

4 5o8cin 35
1 s08a 11
2 Sodciw 34

3 S08a5 25
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Correct Marks : 0.5 Wrong Marks : 0
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The ratio of the slant height and height of cone is 2:+/3 then
the angle between radius and slant height 1s

Fopo) DoY), WoTes A&y DB e AN 2:43
90005 ;“éil‘go 08050 DeaTren RS ;5355 0

i B
2 45°
3. 30°
4. 60°

Options :

1. %1

2.% 2

3.% 3

4.9 4

Question Number : 113 Question Id : 3922667833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radius 3cm 1s carved from a

cuboidal block of wood with dimensions 10cm x 6cm x 2cm.
Then the percentage of wood wastage in the process 1s

10 0.5 x 6 0.2 x 2 D0.00. Soden Ko ¥ ég@aﬁoms*é
3K, B0) H0& 7 0.2, A, 3 0., Lo KOAS
FOp0PRH BEY L. wand & HIEHS” ST oS DY

FE0
1. 45%
1
2. 42—%
2
3. 33%
4, 331%
2
Options :
1.v 1
2. % 2

3.% 3
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Question Number : 114 Question Id : 3922667834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and
BD=13cm. area of ABCD is 65cm™ then the length of AC in
centimeters.

SIS Zhzten D0 Ao D08 ﬁ@ﬁjﬁaﬁD ABCD
oY), EO50 65 $500.0 051 BD = 13 0.20. @00
AC B &I 20.50.08°

L 5
2 10
3. 6
4, 9
Options :

1. %1
2.¥2
3.%3
4. % 4

Question Number : 115 Question Id : 3922667835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A right triangle with sides Scm. 12cm and 13cm is revolved
about the side 12cm. Then the ratio of curved surface area
and total surface area of the solid so obtained

5 20.20, 12 0.8 508850 13 20.50. fharen Ko 00250
(@220 12 20.20. Ko 2Hz0 Joexd (35080 Bk, G
0N IR By, JEBe 2TV 5085w Doyride
3@“@55533&: K}‘J:B@
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13:12
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S

4. 25:12
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Options :
1. % 1
2.% 2
3.¢¥3
4. % 4

Question Number : 116 Question Id : 3922667836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry?
208 3Q)F GOk BT VINTEHOS" VITOSY BN
002y TS Dpew SOAT H500°6500

i C.XT
2. X.H,O
3: XYZ
4. AB,C

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 117 Question Id : 3922667837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216¢cm’ then the length of its diagonal
in centimeters

2.5 H050 @) PoIHBNre0 216 90.20.5. esans T
K FED 20.b.08°

1. 83
% &z
3. 643
4. 62

Options :
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1. %1
2. % 2
3.¥3
4. % 4

Question Number : 118 Question Id : 3922667838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively,
then the perimeter of quadrilateral which formed by joining
mid-points of the sides of thombus 1n cm

B
oy

2 ol Sy STen S 7250.20, 3 0.2, @wows

Tro2d &Y, gHEre ME,JS DoGHOD bt}"ﬁ)&&ﬁ 5e8080\280
2 3/

1 4
2 10
g 3 5
4, 9

Options :

1. %1

2.¥2

3.% 3

4. % 4
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Correct Marks : 0.5 Wrong Marks : 0
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The ratio between the perimeter and the breadth of a rectangle
is 5:1. If the area of the rectangle is 216cm”, then its length in
centimeters

BY $5e8(po @), SenSTod DHodn IEee QS 51,
o°e 2T0g0 216 3.20.2 @ons PEY o..o8°

1. 16
& 18
3. 24
4. 26

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 120 Question Id : 3922667840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length of the minute hand of a clock 1s 14cm then what is
distance covered by the minute hand i 10 minutes in
centimeters?

2.8 KEAr80S” e e e 1430.50.
10 ADIred” e Sven (HASTE30S G580 o085

.
1. 14=
X
2 15+
3
A ]DEl
3
2
4. 102—
3
Options :
1.¥1
2.% 2

3.% 3
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Match the definitions of the Mathematicians

A Francis Bacon 1.

B. Aristotle 1.

i Kant 111.
V.

Science of quantity

Mathematics 1s the
indispensible instrument of
all physical researches

Indirect Measurement

Gateway and Key of all
sciences

Ke3 e(ESgen RS AHBTOR BEITSOE.

A @"2}“}5 DES i

B.  ooes i

3 sc0eS iii.
1v.

1 A-wv.B-1u1,C-11
z A-m.B-w.C-1
3 A-w.B-1.C-1

4. A-11.B-1wv.C-1

Options :
1. %1
2.% 2
3.¥3
4. % 4
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Question Number : 122 Question Id : 3922667842 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history™ was said by

L.
2.

fad

4.

Lim

Chapman

Fried

J.W.L. Glaisher

“25 HJYH o SBG Dok EDT 2 HJY Lre Kedeo
@08 SHFE” o IS

1. &S

3, TR0

3. @&

& 2 ]

4. E.{:‘smzc;s.cﬂg Eﬂdﬁag
Options :
1. % 1
2.% 2
3.% 3
4.9 4
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Correct Marks : 0.5 Wrong Marks : 0
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The person who along with Bertrand Russell. challenged that
“any one could show where logic ends. where mathematics
begins” was

1. Descartes

. White head

B Felix Klein

4. David Hilbert

BIT0E ER)OSE® Kod "I & &80 ©0E0 ©hE0s°, K &

He3dgo (8080 @PEroS™ ol TP ¥T DI
DI DS
1. G3T
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Options :
1. % 1
2.¥2
3.% 3
4. % 4
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Identify the correct statements

L.

IL.

e D =

b

L

—

IL

I

T

4.

Options :

1. %1
2. % 2
3.¥3
4. % 4

EW

Inductive reasoning is not a valid method when
concerned to proof

Though deductive reasoning appears to be simple, there
1s every possibility of going incorrect in many
situations

I is correct: II is incorrect

I 1s incorrect: IT 1s correct

Both I and IT are correct

Both I and I are incorrect

DS/ ensdd KH80wEL

e315:3085 IS AETHeH H02000DS D(RITPEIDO 0
E’ag@ =250,

QRS IS T BETor Ko T "m’oﬁimﬁleéﬁ
@éﬂjc‘fmg ©S¥5°¥0 &od.
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I II %359

[ II3850
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Because of whose writings, the work of Pythagoras and his
disciples became known to the world

L.

LT S

e

Epicaramos
Hippopotas
Phyllodus
Architan

N0 YEIO JON PEFRTD 0G0 e %3’435&:: ﬁo}ix

BowoN e

Options :

1. %]
2.% 2
3.¥3
4.% 4

Question Number : 126 Question Id : 3922667846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In which vear the Indian Government issued the postal stamp
for the first time in honor of Srinivasa Ramanujan

AR CErhas KETE0o 1088 o Sree DHD
RUE (HEEE0 T BT VOIBYO

1.
2,

LS ]

4.

Options :
1.v 1
2.% 2
3.% 3

1962
1987
1992
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Question Number : 127 Question Id : 3922667847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematician who was the first to suggest that letters can be
used for unknown quantities

i Aryabhatta
2. Pythagoras
3. Gauss
4. Archimedes
eaaﬁgg e @Edﬁ::@; ;"’d&iiﬁo‘) 23 JSBTOM BEHDHS
KEAST(0De8
| &sb’g?ﬁ%
2. PEASR
3. P
4. &35&3@&5
Options :
1.1
2. % 2
3. %3
4. % 4
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One of the mathematicians who introduced the School of
Intuitionism

1. A N. White head

2, Bertrand Russell

3. Henri Poincare

4. David Hilbert

OB 50 / FroRdEreh T (BITDES
ﬁﬁ@?@@&:éﬁ 2,55

L .39 38 &
2. BIgo& s
3. 2oQOPanoss
4. TG b

Options :
1. % 1
2. % 2
3.3
4. % 4
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Identify the correct statements

L

IL

-3 =

(b

i

5

=i

IL.

(d

4

Options :

1% 1
2. %2
3. %3
4.¥ 4

o]
o

Understanding : The pupil established relationship
between two quantities given in a problem

Application : The pupil corrected an error in a given
concept

I is correct; IT 1s incorrect
I is incorrect; IT 1s correct
Both I and IT are correct

Both I and IT are incorrect

D500/ ey KH8otEn
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A scientist who wonders “how mathematics has got so many
uses in the world even though 1t 1s man made™ 1s

1. Newman
2. Taylor
3. Einstein

4, Hogben
“REISHO e ST BOSES
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Options :
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The statement “the student will be able to predict the shape of

truncated cone™ 1s the specification of this objective.

1. Skill

2. Knowledge

3. Understanding

4, Application

"AERGB 1Y FopoP EBBODT YD) [0S
Scirew” o TN D oEHusD DB B)REtn?

1. P e
[+ -
2. 23000
=
3. [EDSTanae ity

4. DTN 200

Options :
1. % 1
2.% 2
3.% 3
4. 4
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Which of the following is not the principle of curriculum
construction?

L.
2,

Lad

(e .[‘.".

e

oW

Options :

1.v¥1
2. % 2
3.%3
4. % 4

Principle of Difficulty
Principle of Flexibility
Principle of Utilitarian value

Principle of Activity
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If the student learns the concept ‘Integers’ in the beginning
and agam after some gap in the class 7. the curriculum
organized in the following method

1
2.

[N

4.

Topical Method
Concentric Method
Logical Method
Spiral Method
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Options :
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4.v 4
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A good mathematics textbook should contain examples that:

L are extremely complex to challenge students

2. are in accordance with the situation and with clarity
3. are only focus on the gifted students

4. are unrelated to the text to increase difficulties.

50D K38 TEH0g0S” sorirtes

1 Soer %ﬁjﬂom 23:5“5&‘%@;&: Baren o o sod.
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Options :
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A ‘Preface’ or ‘foreword™ at the beginning of a textbook
describes the following of the textbook.

A.  Specify the Scope

B. Specify the advantages

& Specify the objectives

D.  Specifies the values

FEJHOLO (FE0H0S” 7) DOY B H0LHITe’ 508D
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Options :
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What is the role of ‘Mistakes and errors’ in Heuristic method
used in Mathematics teaching?

1.
2.
3.

4.

Mistakes and errors are not tolerated
Mistakes and errors are seen as failures
Mistakes and errors are valuable learning opportunities

There 1s no room for mistakes and errors.
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‘Education 1s Life’ stated by
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Lord
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When using problem solving in mathematics. which one is the
key factor of success?

i The speed at which a student solves the problem

2. The ability to apply learned concepts to new situations

3. The number of problems that a student can solve in a
set time

4, Student’s ability that without any errors.
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A suitable topic for teaching in project method
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Area of a circle

Pie chart

Discount

Surface area of a Sphere
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This is not included in a unit plan.
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Teaching strategies
Teaching learning material

Evalunation
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“A teaching outline of the important points of a lesson
arranged in the order in which they are to be presented. may
include objectives. points to be made. questions to ask.
references to materials. assessments etc.” This definition for a
lesson plan is given by

I, Herbart
2. Good. C.V.
3 Bloom. B.S.
4. Morison
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Which of the following is not related to Herbartian steps?

1. Preparation

2 Presentation

3. Response

4. Application
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“A unit is a large block of related subject matter which can be
over viewed by a learner” stated by

1. Herbart
2 Preston
3 Galton

4, Thurston
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The influential experience in ‘Learning through observation’
category of Edgar Dale cone of experience.

1. Motion pictures
2. Demonstrations
3. Field Trips

4, Exhibits
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According to Edgar Dale’s cone of experience. which of the
following 1s correct?

I More Passive experience — High retention
2, More active experience — High retention
3. More Visual learning experience — High retention

o

More auditory learning experience — High retention
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Which of the following has to be considered while selecting
teaching learning material?

A
B.
C.
B
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The aid used for vocabulary. symbols in the lesson. how to
pronounce them or for revision is

1. Peg Board

2. Bulletin Board

3. Geo Board

4. Black Board
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Which of the following are the enrichment activities for gifted

students?
1, Providing historical developments of various topics
ii. Appreciation the good work done by them.

iii.  Limiting the divergent thinking perspective.
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Identify the correct statements

I

IL.

3) )

o

Games and laboratory activities are suggested as
supplementary material for slow learners

Test items from mathematical Olympiads and national
talent tests should be provided as supplementary
material for slow learners.

Both I and II are correct

I is correct; IT 1s incorrect
Both I and II are incorrect
I is incorrect; IT is correct
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To teach slow learners. the teacher must possess this trait

1 Efficient

2, Experienced

3 Subject Expert

4, Resourceful. Efficient. Subject Expert
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Which of the following is a strategy to improve accuracy
L. Practicing problems with a time limit
2. Skipping difficult problems and returning to them later

3. Encouraging verification of results.

ot

Focusing on speed rather than method
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Oral work 1s considered as important in teaching mathematics.
Why?

1.

Useful in memorizing Principles

2. Encourages active Participation of students and
immmediate feed back
3. An easy method for teachers to use.
4. Useful for improving hand writing skills
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Main aim of using ‘Drill work’ in teaching mathematics

1.

[N

Develops creativity

Useful for students to work together in implementation
of Complex projects.

Replacing the need for conceptual understanding

To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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A book having ‘Kantikaabharanam® Problems which were
examples of mathematics order

L. Leelavathi Ganitam
7. Aryabhatteeyam
3. Ganita Saara Sangraham

4. Pancha — Siddantika
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The arrangement of triangular numbers belongs to this form of

mathematics aesthetic structure

i
2.
3

4.

oW

Pattern

Symmetry

Sequence

Order
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Who states the need to start a Mathematics club in the School
L. NPE - 1986

2. PoA - 1992

3. Kothari Commission

4. Mudaliar Commission
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Match the following

A, Validity L. Easy to administer

B. Reliability il Measures what it 1s
intended measure

i Objectivity iii.  Consistency of results

D.  Practicality iv.  Free from bias and

Provide impartial results
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A teacher 1s interested in assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

L.
2.
3

4.

Fill in the blank Questions
Essay Questions
True / False Questions

Short answer Questions
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Which is the best use of diagnostic evaluation?

i
2.

5
s

4.

Before going to teach a new lesson

When defects are identified during teaching learning
process

After completion of the teaching

Teaching is going on
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In the process of preparing an evaluation tool, which is the

first step

3 Predetermine the Scoring Procedure

2, Identify the objectives of the evaluation
3. Selecting different forms of questions
4, Standardization of the tool with experts
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